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el SFEQMSA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
w =Xl Dt 3,609,790 3,115,301 494,489
< 672,126
Al 2,937,664
Ol XIed WsI|er 25 3,057,180 3,057,321 A4
< 652,126
Al 2,405,054
SFECTHSHS 2,344,760 2,404,261 A 59,501
< 652,126
Al 1,692,634
AT =4 68,500 48,052 20,448
201 Let24E] 68,500 9,650 58,850
01 At 22l 28,500 4,650 23,850
OXQMis AN 8 YALE
1,000,000 = 43| 4,000
OUNE, EBS ZAZE LANELHS
1,000,000 = 43| 4,000
OUWDnZFstwE LI St &2 483
500,000& * 74w 3,500
OUWn&EstwE LI 22 M
1,000,000 = 33l 3,000
OUWDZESwE LI stR2 4H3|
1,000,000 = 13l 1,000
OL3SALM DNetE MZUEH ZAZ
150,000& * 204 3,000
OLHSAY BlYlLts T2 K&
1,000,000 = 2JH 1 2,000
Ox=td F=0is &8 T2 5,000
Ofzas EJZNE 3,000,000 =+ 13l 3,000
03 &Ar2 I 40,000 5,000 35,000
Oc¢NUEL sILAFN A2UEL(F,1D)
10,000,000& = 204 1 20,000
OGS m AlSISAE JZUE(F)
10,000,000& = 1JH 1 10,000
OOIStOI A THE W AtSISAtEE A Z2BE (1)
10,000,000& = 1JH 1 10,000
miEs =2 620,658 920,658 A 300,000
201 Let24E] 2,200 2,200 0
01 At 22l 2,200 2,200 0
OusZHEXZHARARZS 4
70,000 = 7H « 43| 1,960
Ouszg 39 =9 HA 60,0008 = 43 240
202 oddl 1,458 1,458 0
01 SLHOYI 1,458 1,458 0
OLS3H BEZAY 2 REY
81,000& = 3¥ * 2& » 33 1,458
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el BEQTRA CEEEED
= (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 617,000 917,000 300,000
07 IXNHHARE = 15,000 315,000 A 300,000
OZLiU e MeXAAY HEZ(3E) 15,000
08 WISt E=x 602,000 602,000 0
OnSEA MM A (2504 1) 602,000
S+ TNESTYM TSz N 120,000 100,000 20,000
306 93 120,000 100,000 20,000
01 &3 120,000 100,000 20,000
O2Uuw Aa 284 stz X2 (30Y)
1,500,000& * 30 45,000
OR4+ DSsd T2 X (1203)
500,000& = 1509H 75,000
Olchel i =4 45,660 2,660 43,000
201 Let2d] 2,660 2,660 0
01 At 22l 2,660 2,660 0
Ol Msd? s =&
70,0003 * 798 23] 980
OO0lcHelTH 23 == M= 60,0008 » 32 180
OO0IcHeITH IESIH M= 300,000& * 5% 1,500
306 =43 32,000 0 32,000
01 &3 32,000 0 32,000
ols dsty gsts A 32,000
308 MtXIEHMSOIH 11,000 0 11,000
103N 2SoteBaH A 11,000 0 11,000
OZdl geM2Usd &2 X 11,000
Ed sgusas N 1,307,512 1,272,891 34,621
S 652,126
Al 655,386
201 Let24E] 1,640 4,020 A 2,380
01 At 2t 2l 1,640 4,020 A 2,380
OB WSANAMOAAE BA2Y
70,000& = 10¥ « 23| 1,400
OstmSAl 2@l 39 #40 M
60,0003 = 43| 240
202 O4dl 1,620 1,620 0
01 = LH 4 Hi 1,620 1,620 0
OstnIA 2@ 819 &A
81,000& * 2 * 2& * 53 1,620
308 A EHHSOIA 1,304,252 1,267,251 37,001
< 652,126
Al 652,126
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el BEQTRA (el @2)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
08 W=sJl&otistE = 1,304,252 1,267,251 37,001
OL&34 X& 1,213,722
= 606,861
Al 606,861
OHBY Sa=42 X 89,889
& 44,945
Al 44,944
ONASSE F&y 8D X8 641
=} 320
Al 321
AFHOlA XHEH = 60,000 60,000 0
301 et A= 60,000 60,000 0
02 ¥st=4 st = 60,000 60,000 0
OMTHOIA Xt nEH(gns4d2) 30,000
OMNMOlA XHH WSsHI(n24H|) 30,000
EjEH sHE X 2AIS 122,430 0 122,430
202 04| 2,430 0 2,430
01 2L HI 2,430 0 2,430
O#=ENRIF F3aAsE FA0WH
81,000 * 5% * 3 « 23| 2,430
308 AHXIEHSOIA 120,000 0 120,000
08 W=EJl&otistE = 120,000 0 120,000
OHENRIAF EtAIY sSWIEH 120,000
ZHuUE Qug 2= L M35} 712,420 653,060 59,360
SZYEEA2HUR 608,660 593,660 15,000
201 LBt Y| 41,240 26,240 15,000
01 AP 22| d| 17,240 2,240 15,000
O2AR0 ARFAF EHHLY
70,0003 * 8Y = 43| 2,240
OYZel4 g Tz ) 15,000
03 HAI2 HHI 24,000 24,000 0]
OZUHIZ HSLA ZAIE
24,000,000 * 1H 24,000
202 044l 2,592 2,592 0
01 2L bl 2,592 2,592 0]
O2=20ns &2 429
81,000 » 2% % 22 % 83 2,592
308 MXISHHMSOIA 564,828 564,828 0
07 X HH2AESZ 44 828 44,828 0
O202 90 EX WA XY B242(5Y) 44,828
08 W=EJl&otistE = 520,000 520,000 0
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